
=LPDB����

*UXSD�5R]NãDG������)$�/����&���7\J������

�������������7\J�����

:VSyáF]HVQ\�M��URV\MVNL�
VSUZQRĞFL�]LQWHJURZDQH�
SURI��*RQFKDU�2OHQD� =%
������ ���)$�/����/�

�������������7\J�����

:VSyáF]HVQ\�M��URV\MVNL�
VSUZQRĞFL�]LQWHJURZDQH�
SURI��*RQFKDU�2OHQD� =%
������ ���)$�/����/�

�������������7\J�����

31-$���JUDPDW\ND
SUDNW\F]QD� SURI�
*RQFKDU�2OHQD� =%������
���)$�/����/�

�������������7\J�����

:VSyáF]HVQ\�MĊ]\N
QLHPLHFNL��VSU��]LQWHJU�� G
U�3LĊWDN�$UNDGLXV]� '(�
���� ���)$�/����/�

�������������7\J�����

:VSyáF]HVQ\�MĊ]\N
FKLĔVNL��VSU��]LQWHJU�� PJ
U�;LQ�<DQJ� '(����� ���
)$�/����/�

�������������7\J�����

:VSyáF]HVQ\�MĊ]\N
FKLĔVNL��VSU��]LQWHJU�� PJ
U�;LQ�<DQJ� '(����� ���
)$�/����/�

�������������7\J�����

31-$���JUDPDW\ND
SUDNW\F]QD� SURI�
*RQFKDU�2OHQD� '(�����
���)$�/����/�

�������������7\J�����

31-$�NRQZHUVDFMH� PJU
2OHNVLDN�$QJHOLND� =%�
����� ���)$�/����/�

�������������7\J�����

:VSyáF]HVQ\�MĊ]\N
QLHPLHFNL��VSU��]LQWHJU�� G
U�3LĊWDN�$UNDGLXV]� '(�
���� ���)$�/����/�

�������������7\J�����

31-$�NRQZHUVDFMH� PJU
2OHNVLDN�$QJHOLND� =%�
����� ���)$�/����/�

SR
QL

HG
]L

Dã
HN

������
������
7\G]��

:VWĊS�GR
OLWHUDWXUR]Q
DZVWZD
�üZ�� PJU
3\]LDN
$JQLHV]ND�
%LJ�%OXH
%XWWRQ��=%�
����� ���
)$�/���
&�

2G�W\J���
]DMĊFLD
RQOLQH

�������������7\J��������
��

0HWRG\�XF]HQLD�VLĊ�L
VWXGLRZDQLD� GU�6NZDUD
$QGU]HM� 0LFURVRIW
7($06��=DMĊFLD�RQ�OLQH�
���)$�/����:�����)*3�
/����:

Z�W\J������JRG]��������
�����

�������������7\G]��

31-$��VSUDZQRĞFL
]LQWHJURZDQH� PJU
/HĞQLF]HN�$JDWD� %LJ
%OXH�%XWWRQ��=%������ ��
�)$�/����/�

2G�W\J����]DMĊFLD�RQOLQH

�������������7\G]��

31-$��VSUDZQRĞFL
]LQWHJURZDQH� GU
5DJDQLHZLF]
0DJGDOHQD� %LJ�%OXH
%XWWRQ��'(����� ���)$�/�
���/�

2G�W\J����]DMĊFLD�RQOLQH

�������������7\G]��

31-$��VSUDZQRĞFL
]LQWHJURZDQH� PJU
/HĞQLF]HN�$JDWD� %LJ
%OXH�%XWWRQ��=%������ ��
�)$�/����/�

2G�W\J����]DMĊFLD�RQOLQH

Z
WR

UH
N

�������������7\J�����

31-$��VSUDZQRĞFL
]LQWHJURZDQH� GU
5DJDQLHZLF]
0DJGDOHQD� %LJ�%OXH
%XWWRQ��'(������=DMĊFLD
RQ�OLQH� ���)$�/����/�

RG���W\J��]DMĊFLD
RQOLQH�SODWIRUPD�H�QDXND

�������������7\J������
������

31-$���DQDOL]D�L�SLVDQLH
WHNVWX� GU�%DFKQLDN
.DWDU]\QD� %LJ�%OXH
%XWWRQ��'(����� ���)$�/�
���/�

3R]RVWDáH�W\JRGQLH�RQ�
OLQH��SODWIRUPD�H�QDXND

�������������7\J������
������

31-$���DQDOL]D�L�SLVDQLH
WHNVWX� GU�%DFKQLDN
.DWDU]\QD� %LJ�%OXH
%XWWRQ��=DMĊFLD�RQ�OLQH� �
��)$�/����/�

3R]RVWDáH�W\JRGQLH�RQ�
OLQH��SODWIRUPD�H�QDXND

ĤU
RG

D

�������������7\J��������
��

0HWRG\�XF]HQLD�VLĊ�L
VWXGLRZDQLD��Z�� GU
6NZDUD�$QGU]HM� 0LFURVR
IW�7($06��=DMĊFLD�RQ�
OLQH� ���)$�/����:

Z�W\J������JRG]��������
�����

�������������7\J����

3RGVWDZ\�ILOR]RILL��Z�� GU
KDE��*DáHFNL�6HEDVWLDQ�
%LJ�%OXH�%XWWRQ��=DMĊFLD
RQ�OLQH� ���)$�/����:

�������������7\J����

3RGVWDZ\�ILOR]RILL��Z�� GU
KDE��*DáHFNL�6HEDVWLDQ�
%LJ�%OXH�%XWWRQ��=DMĊFLD
RQ�OLQH� ���)$�/����:

F]
Z

DU
WH

N

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����



=LPDB����

*UXSD�5R]NãDG������)$�/����&���7\J������

�������������7\J������

3RGVWDZ\�ILOR]RILL��Z�� GU
KDE��*DáHFNL�6HEDVWLDQ�
%LJ�%OXH�%XWWRQ��=DMĊFLD
RQ�OLQH� ���)$�/����:

������
�������7\J
����

*UDPDW\ND
RSLVRZD
MĊ]\ND
DQJLHOVNLHJ
R�Z�� GU
6áDERĔVND
2OJD� %LJ
%OXH
%XWWRQ�
=DMĊFLD�RQ�
OLQH� ���)$�
/����:

������
�������7\J
����

+LVWRULD
OLWHUDWXU\
DQJORMĊ]\F
]QHM��Z�� GU
&KROHZD�
3XUJDá
$QQD� 0LFU
RVRIW
7($06�
=DMĊFLD�RQ�
OLQH� ���)$�
/����:

F]
Z

DU
WH

N

�������������7\J�����

+LVWRULD�OLWHUDWXU\
DQJORMĊ]\F]QHM��FZ�� GU
&KROHZD�3XUJDá�$QQD� '
(����� ���)$�/����&�

�������������7\J�����

*UDPDW\ND�RSLVRZD
MĊ]\ND�DQJLHOVNLHJR�üZ��
GU�6áDERĔVND�2OJD� '(�
���� ���)$�/����&�

�������������7\J�����

:VSyáF]HVQ\�MĊ]\N
IUDQFXVNL��VSU��]LQWHJU�� G
U�6NZDUD�$QGU]HM� =%�
����� ���)$�/����/�

�������������7\J�����

5HDOLR]QDZVWZR�NUDMyZ
DQJ�REV]�MĊ]���üZ�� GU
-RKQVRQ�6XVDQQD�6WDF\�
=%������ ���)$�/����&�

�������������7\J�����

.XUV\��V]NROHQLD� PJU
3\]LDN�$JQLHV]ND� '(�
���� ���)$�/����:

.XUV�GRVNRQDOąF\
NRPSHWDQFMH
NRPXQLNDF\MQH�Z�M�
DQJLHOVNLP

�������������7\J������
�����

.XUV\��V]NROHQLD� PJU
2OHNVLDN�$QJHOLND� '(�
���� ���)$�/����:

Z�W\J�����]DMĊFLD�RG
JRG]��������GR������

�������������7\J�����

.XUV\��V]NROHQLD� PJU
3\]LDN�$JQLHV]ND� '(�
���� ���)$�/����:

.XUV�GRVNRQDOąF\
NRPSHWHQFMH
NRPXQLNDF\MQH�Z�M�
DQJLHOVNLP

�������������7\J�����

:VSyáF]HVQ\�MĊ]\N
IUDQFXVNL��VSU��]LQWHJU�� G
U�6NZDUD�$QGU]HM� =%�
����� ���)$�/����/�

�������������7\J������
�����

.XUV\��V]NROHQLD� PJU
2OHNVLDN�$QJHOLND� '(�
���� ���)$�/����:

Z�W\J�����]DMĊFLD�RG
JRG]��������GR������

SL
ĈW

HN
6

R
1

����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� ����� �����


